Adigao até 100 (horizontal)

22 +68 =

62 +50 =

68 + 85 =

16 +24 =

89 +51 =

31+4=

30+93 =

10+ 63 =

94 +57 =

Encontro: Data: Pontuagao:

73+79 =

77+ 100 =

88+ 78 =

66 + 100 =

93 + 63 =

22+10=

8l +1=

88+ 75 =

57+17 =

71+70 =
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VAR

Adigao até 100 (horizontal)

Nome:

64 +51 =115

22 +68 =90

62 +50=112

68 +85 =153

16 +24 =40

89 +51 = 140

31 +4=35

30+93 =123

10+63 =73

94+ 57 = 151

Encontro: Data:

73+79 =152

77+ 100 = 177

88+ 78 = 166

66 + 100 = 166

93 +63 =156

22+ 10=32

8l +1=282

88+ 75=163

ST+17="74

71+70 = 141
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Pontuacao:
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